164
     Test Item File 3: Principles of Macroeconomics

179
Chapter 9 (22): The Government and Fiscal Policy     



[image: image6.png]52

st

v2

vw Y] Aggregate Dutput




Government in the Economy

1. What are the two types of macroeconomic policy channels that are available to the government and describe how they work?

The two types of macroeconomic policies are fiscal policy and monetary policy. Fiscal policy refers to the government's spending and taxing behavior or budget policy. Monetary policy refers to the behavior of the Federal Reserve regarding the nation's money supply.

Difficulty: E

Type: D



2. What is discretionary fiscal policy?

Changes in taxes or spending that are the result of deliberate changes in government policy to promote full employment, price stability and economic growth.

Difficulty: E

Type: D



3. If the government wants to reduce unemployment what are some ways it should change spending and taxes?

In order for the government to reduce unemployment it must either increase government spending, cut taxes, or some combination of two.

Difficulty: E

Type: C



4. Define net taxes.

Net taxes refer to the sum total of all taxes collected by the government from firms and households less all transfer payments made to households by the government.

Difficulty: E

Type: D

5. Write the equation for disposable income and identify each component.

Yd ( Y - T

Disposable income ( Total income - Net taxes
Difficulty: E

Type: D



6. Given that Yd ( C + S, prove that Y ( C + S + T. Explain the importance of this relationship.

Since Yd ( Y - T and Yd = C + S we can then write Y - T ( C + S. Adding T to both sides yields: Y ( C + S + T.

The importance of the relationship is that is says that aggregate income gets cut into three pieces. Government takes a piece, and then households divide the rest between saving and taxes.

Difficulty: E

Type: D



7. Define the budget deficit.

The budget deficit is the difference between what the government spends and what it collects in taxes.


Difficulty: E

Type: D



8. How would a strong economy affect the size of the budget deficit?

The budget deficit would fall in the face of a strong economy for the simple reason that it means higher incomes, which translate into higher corporate profit and a larger personal income tax base which will lead to higher tax revenues.  


Difficulty: E

Type: D



9. Write out the modified algebraic representation of the consumption function when taxes are included.

C = a + b (Y - T) where Y - T represents disposable income.

Difficulty: E

Type: D



10. How can government affect investment behavior?

The government can affect investment behavior through its tax treatment of depreciation and through changes in interest rates (and investment tax credits.


Difficulty: E

Type: D



11. Assume that the economy is in equilibrium at$9 trillion and the government increases spending by $100 billion.  What would happen to unplanned inventories and why?

Unplanned inventories would fall.  The reason is that the economy is currently in equilibrium with aggregate expenditures at $9 trillion.  If government increases spending by $100 billion then spending will be greater than the level of output causing a drawing down of inventories.

Difficulty: E

Type: D



12. Assume the following behavioral equations for a macroeconomy:

C = 100 + .9Yd , I = 50, T = 100 and G = 40 

Calculate the equilibrium level of output.

In equilibrium AE = Y. Since AE = C + I + G we can write C + I + G = Y.

Rewriting the consumption function yields: 100 + .9 (Y - 100) since Y d = Y - T. This reduces to 10 + .9Y.

When added to I and G yields 10 + .9Y + 50 + 40. Combining terms this equals 100 + .9Y. Since this is AE we must then set it equal to Y and solve for Y. We then get 100 + .9Y = Y. Rearranging and solving for Y yields 1000.


Difficulty: E

Type: D



(All Figures are in Billions of Dollars)

	Output
	Taxes
	Disposable Income
	Consumption Spending
	Saving

	5000
	1000
	
	
	

	7000
	1000
	
	
	

	9000
	1000
	
	
	


	Planned

Investment
	Government

Purchases
	Planned

Aggregate

Expenditure
	Unplanned

Inventory

Change

	1000
	1000
	
	

	1000
	1000
	
	

	1000
	1000
	
	


13. Assume that the consumption function for the above economy is C = 1000 + .75Yd fill in the empty cells.

	Output
	Taxes
	Disposable Income
	Consumption Spending
	Saving

	5000
	1000
	4000
	4000
	0

	7000
	1000
	6000
	5500
	500

	9000
	1000
	8000
	7000
	1000


	Planned

Investment
	Government

Purchases
	Planned

Aggregate

Expenditure
	Unplanned

Inventory

Change

	1000
	1000
	6000
	-1000

	1000
	1000
	7500
	-500

	1000
	1000
	9000
	0


Difficulty: E

Type: D



14. In a closed economy with a public sector prove that S + T = I + G.

In equilibrium aggregate output (income) equals planned aggregate expenditure (AE). By definition, AE equals planned aggregate expenditure (AE). By definition, AE equals C + I + G, and by definition Y equals C + S + T. Therefore, at equilibrium C + S + T = C + I + G. Subtracting C from both sides yields S + T = I + G.


Difficulty: E

Type: D



15. Identify the broad contrasting views regarding the role of government within the macroeconomy. 

The proponents of government action argue that public policy is needed to insure long-term economic stability and growth because of the disruptions associated with cyclical fluctuations. The critics of government policy argue that it is incapable of stabilizing the economy and contributes to inflation and recession. 

Difficulty: E

Type: D

16. Explain nondiscretionary fiscal policy. What are some examples of nondiscretionary fiscal policy? 

Nondiscretionary fiscal policy represents changes in taxes and spending that occur in response to cyclical fluctuations without congressional or executive approval. Examples include automatic changes in government spending for unemployment compensation, for public assistance programs, and the progressive nature of the income tax that alters collected tax revenues in response to cyclical fluctuations. 

Difficulty: E

Type: C
17. Explain the case where unplanned inventories increase. 

Unplanned inventories increase whenever unplanned investment exceeds planned investment. Stated differently, unplanned inventories increase when aggregate output (Y) is greater than aggregate expenditures (C + I + G). 

Difficulty: E

Type: C
18. Explain why saving plus taxes must equal investment plus government spending in equilibrium. 

For the economy to be in equilibrium, aggregate expenditure must equal aggregate output. Aggregate expenditure is C + I + G and aggregate output is C + S + T. Subtracting C from each side yields I + G = S + T. For the economy to be in equilibrium, the amount being withdrawn from the circular flow as saving and taxes must be exactly offset by the amount being added to the circular flow as investment and government spending. 

Difficulty:M

Type: A
19. You are given the following income-expenditures model for the economy of Vulcan.



C = 200 + .8Yd



T = 50



G = 100



I = 140

(a) What is the equilibrium level of income in Vulcan?

(b) At the equilibrium level of income, what is the amount of consumption?

(c) What is the value of the government spending multiplier in this economy?

(d) If government spending increases to 150, what is the new level of equilibrium income? 

(a) The equilibrium level of income is 2,000.

(b) At the equilibrium level of output, consumption is 1,760.

(c) The government spending multiplier is 5.

(d) If government spending increases to 150, the new equilibrium level of output is 2,250. 

Difficulty: M

Type: A
20. How do the values of the tax multiplier and the government spending multiplier change as the MPC increases? Explain why the multipliers change. If the MPC were 0, what would the government spending and tax multipliers equal? If the MPC were 1, what would the government spending and tax multipliers equal? 

As the MPC increases, the value of the government spending multiplier increases and the absolute value of the tax multiplier increases. The multipliers increase as the MPC increases because for any given change in expenditures or taxes, the change in consumption increases as the MPC increases. If the MPC were 0, the tax multiplier would be -1 and the government spending multiplier would be 1. If the MPC were 1, the tax multiplier would be negative infinity and the government spending multiplier would be positive infinity. 

Difficulty:M

Type: A
21. Draw a graph of an economy's aggregate expenditure function. Using this graph, explain how equilibrium income is determined. Show graphically the effect on the equilibrium level of output if government spending and taxes are increased by the same amount. Explain why the balanced-budget multiplier equals 1. 

Equilibrium income is determined where planned aggregate expenditures, C+I+G, equals aggregate output.  This equilibrium is graphically where the appropriate C+I+G line intersects the 45 degree line.   If taxes and government spending are increased by the same amount, the final change in equilibrium output equals the change in government spending . Increases in government spending increase output by more than an increase in taxes reduces output. The balanced-budget multiplier is the sum of the government spending and tax multipliers. The sum of these multipliers is one.
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Difficulty:M

Type: C
22. Does the paradox of thrift also exist in the model in which we assume government exists? 

Yes! An increased desire to save is equivalent to a reduction in consumption. This drop in expenditures will cause a reduction in output. What happens to saving? In equilibrium, S + T = I + G. If we assume that T, I, and G do not change as Y changes, S must return to its original level. So, the paradox of thrift does exist here. 

Difficulty: M

Type: A
Fiscal Policy at work

23. The paradox of thrift argues that households' efforts to avoid the effects of a pending recession may actually end up producing the same level of saving and bring about the very recession that it is preparing for. Show with the use of a graph how this happens if we assume that investment is independent of the level of output. In addition, show the effects on both saving and the equilibrium level of output if we assume that investment is positively related to the level of national output. Explain why this added assumption about investment is actually more realistic than the former.
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The graph above shows that the public's effort to save more does not materialize in the end. The reason is that the initial increase in saving (or reduction in consumption) has a negative effect on aggregate output through the force of the multiplier. With a lower level of output the economy cannot be expected to save more. If we assume that investment is positively related to the level of output as I2 illustrates then the initial increase in saving will cause the economy to contract even further than before and the level of saving will actually be lower. The reason that this assumption of investment behavior is more realistic is that firms begin to come up against capacity constraints at higher levels of output. Thus firms tend to spend more on capital. Likewise, as the economy contracts firms have more excess capacity and therefore cut back on investment spending.


Difficulty: E

Type: D



24. Determine the impact of an increase in government spending of $10 billion when the MPC is .8. Determine the impact of a decrease in government spending of $5 billion when the MPS is .25. 

The government spending multiplier will be 5. Thus, the increase in government spending of $10 billion will increase aggregate output and income by $50 billion. The government spending multiplier will be 4. Thus, the decrease in government spending of $5 billion will decrease aggregate output and income by $20 billion. 

Difficulty:M

Type: A
25. Discuss an important difference between the spending and tax multipliers. 

A change in government spending has an immediate and direct impact upon the economy's total spending and income level. In contrast, a change in taxes directly changes disposable income which then impacts upon spending and income. 

Difficulty:E

Type: C
26. Determine the impact of an increase in taxes of $20 billion when the MPS is .25. Determine the impact of a decrease in taxes of $10 billion when the MPS is .2. 

The tax multiplier will be -3. Thus, an increase in taxes of $20 billion will decrease aggregate output and income by $60 billion. The tax multiplier will be -4. Thus, a decrease in taxes of $10 billion will increase aggregate output and income by $40 billion. 

Difficulty: M

Type: A
27. Determine the net impact upon the nation's economy that results from equal increases in spending and taxes of $10 billion when the MPC is .8. 

With an MPC of .8, the spending multiplier is 5 and the additional spending will increase income by $50 billion. With an MPC of .8, the tax multiplier is -4 and the increase in taxes of $10 billion will decrease income by $40 billion. The net impact is an increase in aggregate output or income of $10 billion. 

Difficulty:M

Type: A
28. Determine the net impact upon the nation's economy that results from equal decreases in spending and taxes of $5 billion when the MPC is .75. 

With an MPC of .75, the spending multiplier is 4 and the decrease in spending of $5 billion will lower income by $20 billion. The value of the tax multiplier is -3 and a decrease in taxes of $5 billion will increase income by $15 billion. The net impact is a decrease in aggregate output or income of $5 billion. 

Difficulty: M

Type: A
29. The MPC in Montavada is .75.

(a) If taxes were reduced by $1,000 in Montavada, by how much would equilibrium output change?

(b) If government spending were increased by $1,000 in Montavada, by how much would equilibrium output change?

(c) Explain why a tax cut of $1,000 would have less effect on the economy of Montavada than an increase in government spending of $1,000. 

(a) If taxes are reduced by $1,000, equilibrium output increases by $3,000.

(b) If government spending is increased by $1,000, equilibrium output increases by $4,000.

(c) The change in taxes has a smaller impact than the increase in government spending, because when taxes are cut the initial increase in aggregate expenditure is only MPC times the change in taxes. When government spending is increased, the initial increase in aggregate expenditure equals the increase in government spending. 

Difficulty: M

Type: A
30. Explain why the government spending multiplier is different from the tax multiplier. 

First, it is important to note that an increase in G will cause Y to increase and an increase in T will cause Y to fall! So, the spending multiplier is positive while the tax multiplier is negative. To answer this question, it is easiest to consider two options: a 100 increase in G versus a 100 reduction in T. The 100 increase in G has a direct effect on planned expenditures. Expenditures rise by 100, firms' inventories fall, and equilibrium output will rise by some multiple of that. When T is cut by 100, disposable income increases by 100. However, only part of the tax cut is used for consumption because some of it is saved. Hence, the 100 reduction in T will have a smaller effect on equilibrium output. 

Difficulty: M

Type: A
31. Suppose policymakers decide to increase government spending by 100 and simultaneously increase taxes by 100. Explain what effect this simultaneous increase in G and increase in T will have on the economy and on the budget deficit. 

A superficial analysis of this policy action might lead some to argue that output will not change. However, the 100 increase in T only partially offsets the effects of the higher G on planned expenditures. When T increases, households will reduce consumption. The reduction in C will be less than the 100 increase in T because they also reduce saving. So, the net effects of this policy action on planned expenditures are positive. When planned expenditures rise, inventories fall and firms will increase production. So, output will rise. The size of the budget deficit will not change (this assumes no tax rate). G and T both rise by the same amount. 

Difficulty:M

Type: A
32. Assume an economy is represented by the following:
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(a) Calculate the equilibrium level of output.

(b) Based on your analysis in Part (a), calculate the levels of consumption and saving that occur when the economy is in equilibrium.

(c) Now suppose planned investment rises by 100. Calculate the new equilibrium level of income. Given your answer, what is the size of the multiplier?

(d) What is the size of the tax multiplier for this economy? 

(a) Y = 4000

(b) C = 2800 and S = 200

(c) Y = 5000. The multiplier is 10.

(d) The tax multiplier is -9 (-MPC/MPS). 

Difficulty: D

Type: A
33. Assume an economy is represented by the following:


[image: image4.emf]
(a) Suppose actual output is 3000. What is the level of planned expenditures at this level of output? What is the level of unplanned changes in inventories?

(b) Calculate the equilibrium level of output.

(c) Based on your analysis in Part (a), calculate the levels of consumption and saving that occur when the economy is in equilibrium.

(d) Now suppose that G decreases by 100 and T simultaneously decreases by 100. Calculate the new equilibrium level of income. Given your answer, what is the size of the balanced budget multiplier? 

(a) AE = 2800. With Y = 3000 and AE = 2800, unplanned changes in inventories equal + 200.

(b) Y = 2600

(c) C = 400 and S = 200

(d) Y = 2700. Y increases by 100 so the balanced budget multiplier is 1. 

Difficulty:D

Type: A
34. Suppose planned investment drops by 200.

(a) First, graphically illustrate the effects of this reduction in planned investment using the AE - Y graph. Explain what effect it will have on the economy.

(b) Now suppose policymakers wish to prevent this drop in I from having any effect on output. How much would government spending have to increase in order to prevent any change in Y? Explain.

(c) Rather than use a change in spending, suppose policymakers wish to use a change in taxes to prevent Y from changing. Explain what must happen to taxes to achieve this.

(d) Briefly compare and explain any differences in the size of the change in G and change in T in Parts (b) and (c). 

(a) This drop in investment will cause a reduction in planned expenditures, an increase in inventories, and a reduction in output. 
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(b) G will have to rise by 200. This will offset exactly the drop in I leaving planned expenditures unchanged.

(c) They will have to cut taxes. The drop in T will cause an increase in disposable income and an increase in consumption. The drop in T will have to be sufficient to cause C to rise by 200.

(d) The drop in T will have to be larger than the increase in G. This is so because some of the tax cut will be saved. To cause C to increase by 200, T will have to be cut by more than 200. 

Difficulty: D

Type: A
35. Summarize the three multipliers. 

The government spending multiplier reflects increases or decreases in the level of government purchases.  It can be calculated by taking the change in government spending and multiplying by 1/MPS.  The tax multiplier reflects increases or decreases in the level of net taxes.  It can be calculated by taking the change in taxes and multiplying by - MPC/MPS.  The balanced budget multiplier reflects increases or decreases in the level of government purchases and net taxes.  It can be calculated by taking the change in government purchases / taxes and multiply by 1. 

Difficulty:D

Type: A
36. What effect does an introduction of an income tax rate have on the size of the spending multiplier? Explain. 

The introduction of an income tax rate will reduce the size of the multiplier. When autonomous expenditures rise, inventories will fall. Firms respond by increasing production. As income rises, households experience an increase in disposable income. With no tax rate, the entire rise in Y causes a one-for-one rise in disposable income. With a tax rate, disposable income rises, but not as much. Hence, consumption will not increase as much. In short, AE is less income sensitive when a tax rate exists. Therefore, the multiplier is smaller. 

Difficulty: D

Type: A
The Federal Budget

37. Explain why an increase in the budget deficit must be accompanied by an increase in saving if private investment remains unchanged. Assume that the economy is in equilibrium.

When the economy is in equilibrium leakages are equal to injections. Therefore, S + T = I + G. By rearranging this equation we have (S - I) = (G - T).  Since G - T is the budget deficit an increase on the right hand side must be either accompanied by a reduction in investment or an increase in saving. Since the question states that investment remains unchanged then the level of saving must rise.


Difficulty: E

Type: D



38. Write out the equation for aggregate income in a closed economy that has no government sector.

In a closed public economy aggregate income = C + I + G

Difficulty: E

Type: F



39. For the economy to be in equilibrium what must be the relationship between government spending, investment, savings, and tax revenue. (Hint: write out an equation)

For the economy to be in equilibrium, government spending plus investment spending must equal savings plus tax revenue or G + I= S + T.

Difficulty: E

Type: F




40. Explain in words what the government spending multiplier is.

The government spending multiplier is the ratio of the change in the equilibrium level of output to a change in government spending.

Difficulty: E

Type: F




41. Suppose that the MPS = .2 and the government is interested in raising the level of output in the economy by $100 billion.  Calculate how much the government would have to spend to achieve this objective.

(Y = m x (G.  Since (Y = $100 billion and the m = 1/mps or 1/.2 or 5.  Then the change in government spending that would be necessary to achieve this objective would be $20 billion.

Difficulty: E

Type: F




42. Explain what would be the impact of a decrease in lump-sum taxes on the slope of the consumption function.

It would have no effect on the slope of the consumption function.  The reason is that lump-sum taxes are independent of the level of output.  This would simply cause the consumption function to shift up.

Difficulty: E

Type: F




43. Define the tax multiplier and give the algebraic expression.

The tax multiplier is the ratio of change in the equilibrium level of output to a change in taxes. The algebraic equivalent is - (MPC/MPS)


Difficulty: E

Type: D
44. Why does the tax multiplier differ from the spending multiplier?

When the government increases spending, there is an immediate and direct impact on the economy's total spending. When taxes are cut, there is no direct impact on spending. Taxes indirectly affect consumption through the impact that they have on household disposable income. Furthermore, households have two things that they can do with this increase in income - save and consume. Therefore the initial impact of a cut in taxes is only MPC times the first dollar's worth of the tax cut. By contrast, when government spending increases by $1, planned aggregate expenditure increases initially by the full amount of the rise in G.


Difficulty: E

Type: D



45. Write out the formula for the tax multiplier and explain why a higher MPC would generate a more negative tax multiplier.

The tax multiplier is equal to -MPC/MPS.  A higher MPC increases the numerator and by definition reduces the denominator because of the identity that MPC + MPS = 1.  Therefore the tax multiplier will become more negative.

Difficulty: E

Type: D



46. Assume that the government spending multiplier is equal to 4.  Calculate the tax multiplier from this information.

If the government spending multiplier is 4 then the MPS is 1/4.  Therefore, the MPC is 3/4.  The tax multiplier is -MPC/MPS or -3/4 / 1/4 = -3.

Difficulty: M

Type: A



47. Calculate how much output would expand by if the government increased spending by $500 billion and financed this spending by increasing lump-sum taxes by the same amount.

(Y = (G (or (T) X 1 due to the balanced budget multiplier.  Therefore, output would expand by $500 billion. 
Difficulty: E

Type: F




48. Assume lump-sum taxes are reduced by $500 billion and income rises by $1 trillion.  Calculate the value of the tax multiplier.

(Y = (T) x tax multiplier.  Therefore $1 trillion = -$500 billion x tax multiplier. Therefore, the tax multiplier = -2.
Difficulty: E

Type: A



49. Explain what the balanced budget multiplier is.

The ratio of change in the equilibrium level of output to a change in government spending where the spending is balanced by a change in taxes so as to have no affect on the budget. The value of this multiplier is equal to one.


Difficulty: E

Type: D



50. Suppose that the government's budget deficit is $200 billion and the equilibrium level of output is at $8 trillion. If the output level necessary for full employment is $8.1 Trillion, by how much must the government increase spending and taxes to stimulate the economy?

The short answer is that the government must increase spending by $100 billion and taxes by $100 billion. The reason is that the balanced budget multiplier is equal to one. Thus (Y = (G (or -(T) x 1. 


Difficulty: E

Type: D



51. Write out the algebraic representation for the consumption function when the government is added to the income-expenditure model.

The consumption function is C = a + b (Y - T) where a represents autonomous consumption and T represents net taxes.  (Y - T) represents disposable income.

Difficulty: E

Type: D


	Model for the Falkland Island Economy



	C = 100 + .8Yd

G = 800

T = 500

I = 200


52. Given the above model for the Falkland Island economy calculate the level of savings when the economy is in equilibrium.

We must first calculate the level of equilibrium output.  

C = 100 + .8 (Y - 500).  This reduces to C = 100 +.8Y - 400 or 

C = -300 +.8Y.  In equilibrium - 300 + .8Y + 800 + 200 = Y.  

This reduces to 700 + .8Y = Y.  Rearranging terms yields 700 = .2Y.  Solving for Y gets us $3500.  Saving in this model is Y - T - C.  

Since C = 100 + .8(3500 - 500) = 2500 and Y = 3500 we can write savings as 3500 - 500 - 2500 = 500.

Difficulty: M

Type: A



53. If the aggregate consumption function is C = 100 +.8Yd what is the level of consumption if income is $2000 and net taxes are $200.  Show all work.

C = 100 + .8 (2000 - 200) = $1540.

Difficulty: E

Type: A



54. Prove that the balanced budget multiplier is equal to one by using the government and tax multipliers.

The government multiplier is equal to 1/MPS. The tax multiplier is equal to - MPC/MPS. If you sum these two multipliers together (which is essentially what is happening when you increase spending and taxes at the same time) you get (1 - MPC)/MPS. Since MPC + MPS ( 1 this reduces to MPS/MPS which is equal to one.


Difficulty: E

Type: D



55. What would be the effect of a cut in taxes of $100 billion on the economy if the marginal propensity to consume were .9? Explain why this policy is much different from simply having the government initiate a $100 billion spending program. Support your answer with specific calculations.

Under the tax cut plan the economy would expand by $900 billion. This is so because the value of the tax multiplier is -9 (-MPC/MPS). By contrast, the government spending program would cause the economy to expand by $1 trillion because the income multiplier is 10 (1/MPS). The reason that the tax multiplier is smaller is because some of the otherwise expansionary effect of the tax cut is drained because the public will save a portion of it.

Difficulty: E

Type: D



56. Explain how the federal budget is really three budgets?

First it is a political document that grants favors to certain groups or regions. Second it is a reflection of goals the government wants to achieve. Third, it is an embodiment of beliefs about how the government should manage the economy.


Difficulty: E

Type: D



57. Explain how some government tax revenue and spending can depend on the state of the economy.

As the economy expands people's incomes go up and more people are employed. This increases the size of the tax base. Even if Congress does not raise taxes it will collect more tax revenue when the tax base grows. Just the reverse is true in a recession. Likewise some government transfers will move in the opposite direction of the state of the economy. For instance, if the economy expands the number of people on the welfare rolls and collecting unemployment compensation will decline. Again, these expenditures will rise when the economy is in recession.


Difficulty: E

Type: D



58. Define automatic stabilizers.

Automatic stabilizers exist when revenue and expenditure items in the budget automatically change with the state of the economy in such a way as to stabilize GDP.

Difficulty: E

Type: D



59. Explain what is meant by fiscal drag.

The negative effect on the economy that occurs when average tax rates increase because taxpayers have moved into higher income brackets during an expansion of the economy.


Difficulty: E

Type: D



60. Why might a balanced budget requirement be potentially destabilizing for the economy?

Any requirement to balance the budget (constitutional or otherwise) essentially forestalls any opportunity by the government to use fiscal policy as a tool stimulate the economy. For example, if the economy was in a severe recession, the budget deficit would automatically rise because of lower tax revenue and increased transfer payments. Under a balanced budget requirement this would require either a cut in spending or a tax increase. Both responses would serve to further contract the economy and make the recession worse. 


Difficulty: E

Type: D



61. What do economists mean by the concept of a full-employment budget? Explain your answer in relation to the structural and cyclical deficit.

The full-employment budget is what the federal budget would be if the economy were producing at a full-employment level of output. In other words, if the economy were in recession it would clearly bring about a larger federal budget deficit than otherwise. But this does not accurately show the intent or the success of fiscal policy. The reason is that a large part of this deficit is simply due to the recessionary phase of the business cycle. This portion is called the cyclical deficit. The amount of the deficit that would still remain even if the economy were operating at full employment is called the structural deficit.

Difficulty: E

Type: D



62. Compare and contrast the following two proposals to deal with a federal budget surplus in an economy that is operating at full employment. Proposal #1 would require that significant portions of the surplus be returned to the public in the form of tax cuts. Proposal #2 would require that an equal portion instead be impounded to augment the Social Security Trust Fund. Make sure to point out the effect that each may have on inflation.

If a sizeable portion of the surplus is returned to the public in the form of a tax cut this would increase the level of disposable income in the economy. In turn this would induce further household consumption which could generate inflation. On the other hand, by impounding the surplus to augment the Social Security Trust Fund this action would tend to be contractionary because it keeps spending from the economy that would have otherwise taken place. It would in effect reduce potential inflationary pressures.


Difficulty: E

Type: D









163

_1220877774.doc
[image: image1.png]





9(22)











The Government 



and Fiscal Policy




















_1207545198.pdf





